KCSE 2017
SECTION A
Answer all the gquestions in this section.
L {a) identity three counties in Kenya where wheat is grown on a larg

4.

W

(b)  State three climatic conditions that affect wheat farming.

Ulve e difierences beiween sofiwood jorests in Kenya and Canada.

(a)  List three traditional methods of fishing.

{5} Give three similaritics of fishing ia Kenya and Japan.

State four disadvantages of solar energy.

(a)  Name two types of water transport.
(bl Give three challenges facing railway transport in Fast Africa.
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SECTION B
Answer question 6 and any other two questions from this section.

6. The table below shows the number of visitors in *000 10 selected nations| arke in K :
. . : - k i ’
years 2006 to 2008, Use it to answer the questions that follow, O i

Park/Yr 2006 2007 2008
Nairobi 102 93 92
Amboseli 153 156 2 |
Tsavo 354 372 182
Lake Nakuru 327 347 138
| TOTAL 946 0h8 407
(@) (i)  Whatis the difference in the number of visitors who visited the parks
in 2006 and those in 2008. (2 marks)
(i)  Caleulate the percentage inerease in the number of visitors who visited
Lake Nakuru National Park between 2006 and 2007, (2 marks)
=t (b) (i)  Draw a compound bar graph to represent the number of visitors to
i selected national parks in Kenya. Use the scale of | cm to represent
1 e 100.000 visitors. (10 marks)
an Tk '“| (i) Statethree advantages of using compound bar graphs to represent

i 1 : w- geographical data. (3 marks)
o m"!urwbtem associated with tourism in Kenya. (8 marks)

ks

'Wﬁw farming? (2 marks)
 five factors that favour beef farming in Kenya. (5 marks)
o nomadic pastoraiism. in Kenya. (O marks)

‘beef production is higher in Argentina than Kenya. (6 marks)

vy beef tarming to the economy of Kenya. (6 marks)
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B. (a)
(b)

(c)
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(b)
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Apart from irrigation, give four methods of land reclamation in Kenya. (4 marks)

Explain four physical factors which influenced the location of Mwea irrigation
schoeme, (6 1WTKs )
(i)  Name three crops grown in the polders in Netherlands. (3 marks)

(i)  Describe the stages of reclamation of land from the sea in the Netherlands.

s 1
AV HKUAD)

State four benefits of land reclamation in the Netherlands. (4 marks)

Explain the following types of settlement pntterns

o Dispersed settlement pattern (4 marks)
o Nucleated settlement pattern (2 marks)
Stateé four problems faclng the city of Nairobi. (4 fmarks)
State factors which led to the growth of Kisumu as a lake Port, (7 marks)

Explain four ways in which the Port of Mombasa differs from Roterdam Port. (8 marks)

Mﬁiﬁefterm*envimnmantalmanngemem. (2 marks)
(i)  Name two areas in Kenya that are prone to lightening. (2 marks)

State four problems caused by lightening. (4 marks)

(6 marks)

that the government of Kenya has taken to conserve the
(6 marks)
llution that they may observe. (2 marks)

€ they likely  envounier dutiug i siudy ? (3 marks)
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